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UNIT-1 AND 2 (REVISION TEST)-2022-23

EXAM NO:

NAME: MAX MARKS: 100

STD: IX DUARTION: 3.00 HRS
PART -1 [14*1=14]

CHOOSE THE BEST ANSWER:

1. ThesetP={x|x€Z -1<x<1}isa......
(a) Singleton set (b) Power set (c) Null set (d) Subset
1. &H600TLD P = {x/x € Z,— 1x < 11} 6T60TLI S
(1) @BMILIL|E &600TLD (2) (H &GS 60Tl (3) QeumMmId &HevoTLD (4)
2 | &H600TLD
2. IfA={x,vy, z} then the number of non- empty subsets of A is..............
(a)8 (b) 5 (c)6 (d) 7

2. B600TLD A = (X, y, z} 6T6DT16V, A @) 60T GleuMHMI& 85600TLA6VEVITS
o | 56007 h18561T| 60T 6T600T 60018560085
(1)8 (2)5 (3)6 (4) 7

3. If n(A) = 10 and n(B) = 15 then the minimum and maximum number of elements in ANB is

(a) (10, 15) (b) (15, 10) (c) (20,0) (d) (0, 10)

3.n(A) = 10 LDMMILD n(B) = 15, 6T60T16L G600TLD A NB 2_6T6T &H6MMIHS LIL&F
LMD HFSULF 2 mILIL86rfl60T 6T600T6001 18608 LOMMILD
(1) {10, 15} (2) {15, 10} (3) {10, 0} (4) {0, 10}

4. In a class of 50 boys, 35 boys play carrom and 20 boys play chess then the number of
boys play both games is........
(@) 5 (b) 30 (c) 15 (d) 10

4. (I UG LILI6L 2 6iTerT 50 L0 mevoTe) 8616V 35 QLI &+600TL_ITL_L_LD (Carrom)
aflememwimhLIeUTE6T LDMHMILD 20 LT FSITMHIGLD eflememw m({HILIeU 86T
6T601 16V, @65 @) T6voT (R ellemeTulmL_emL LD aflemermwtm(h Lieuyaserfleor
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6T600T6001 1 &5 60) 5.
(1)5 (2) 30 (3) 15 (4) 10

5. Which of the following is true?
(a)A-B=AnB (b)A—B=B—-A (c) (AUB) = A’UB’ (d) (AnB)’ = A’UB’

5. L& 5 mevor Lieu mndlev 6131 &ifl?
(1) A—B=ANnB (2) A—B=B-A (3) (AuB)! =AlUB! (4) (AnB)! = AlUB!

6. In a city, 40% people like only one fruit, 35% people like only two fruits, 20% people like
all the three fruits. How many percentage of people do not like any one of the above three
fruits?

(@) 5(b) 8 (c) 10 (d) 15

6. 62(IH H&f16V, 40 % LDGHGET R ([H UM LILPGHEMS 0L (LD, 35 % D& & 6T
@ 7evor(h) 6U6M & LILPMHIGHEN6T LOL_(HLD, 20 % LD& 6T CLOGTMI 6160 &
LILPMIG6em6TULD e [(HLOLISMITT &6 6T6vfl6v, GLOME600TL CLOGITMI 6)6M &>
LILpmIgemeT LD e pLLIMS e serfletr &5aT8L0D eTeor60r?

(1)5(2) 8(3) 10 (4) 15

7. If n(AUBUC) = 100, n(A) = 4x, n(B) = 6x, n(C) = 5x, n(ANB) = 20, n(BNC) = 15 and n(ANC) =
25, then n(ANBNC) = 10, then the value of x is..........
(a) 10 (b) 15 (c) 25 (d) 30

7.n (AUBUC) = 100, n(A) = 4x, n(B) = 6x, n(C) = 5x, n (AnB) = 20, n (BNC) = 15, n (AnC) = 25
LOMMILD n (ANBNC) = 10 6T60T16V, x @) 60T LOFLIL
(1) 10 (2) 15 (3) 25 (4) 30

8. If nis a natural number then n—-V is
(1) always a natural number (2) always an irrational number
(3) always a rational number (4) may be rational or irrational

8.n 6TEOTLISI 627 @)UI6D 6T600T 6T60116V VN 6T60T LIS

(1) TIGLIMSILD 61 @) UI6V 6T600T.

(2) 6T IGUIMSID 6p(H MGG (LM IT 6T600T.

(3) 6TLIGUIMSILD 62(H NG (LD M) 6T600T

(4) R NBBLM 21606081 B GLPMT 6T6T0T

9. Which one of the following, regarding sum of two irrational numbers, is true?

(1) always an irrational number (2) may be a rational or irrational number.
(3) always a rational number (4) always an integer.
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9. @ NP UNMIT 6T600TSH6T160T Fn(h &6V LIMMIUI GHLD & & memmi LD
FnMMIG6Tl6L 6T 2 6v0TEMLN ?

(1) TLIGLIMEILD 62(H NGRS LNMIT 6T600T.

(2) MRS UL M 6VeVS GG (LNMIT ETEUOTEOOTTS @) (HEE6VITLD.
(3) eTLIGUIMEILD 2 MGG (LNMI 6T600T.

(4) TLIGUIMEILD 62(IH (LD EHFHETTSLD.

10. Which one of the following is an irrational number?

(1)v25 (2)v9/4 (3)7/11 (4)n

10. LYl edTeu 6oTeU M MIET 678 NG & LD MIT 6T600T?
(1)v25 (2)v9/4 (3)7/11 (4)m

11. The smallest rational number by which 1/3 should be multiplied so that its decimal
expansion terminates after one place of decimal is

(1)1/10 (2)3/10 (3)3(4)30

11.1/3 0 6TH& L&HE Fmlwl 5 &M 6T600T600T T6V
QUHSH 6TTeV 35607 &0 allifle] @ @eVE&HSCHT(H)
WIge| M &0 allifleums 9jemou|b?

(1) 1/10 (2) 3/10 (3)3 (4) 30

12.V27 +V12 =
(1) V39 (2) V56 (3) V53 (4)V35

13. The length and breadth of a rectangular plot are 5 x 105 and 4 x 104 metres
respectively. Its area is .
(1) 9 x10'm?(2) 9x 10° m? (3) 2 x 10 m? (4) 20 x 10%° m?

13. @(H G F6UUS aUlq6al &L (h enerulledr Her Wmmin
9|G6VMIGET (PeHMEBUI 5 x 105 LDMMILD 4 x 10* LSL_L[J eTevfl6v,
9|5 60T LIFLILIGTE) 6T60T60T ?

(1) 9 x 1031012 (2) 9 x 10° [1[12 (3) 2 x 10 (1112 (4) 20 x 102 [1[12

14. Which one of the following has a terminating decimal expansion

(1)5/64 (2)8/9 (3)14/15 (4)1/12
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14. L9l 60T6U 60TEUM MIET 6T& (NG M SFLNE HT6y?
(1) 5/64 (2) 8/9 (3)14/15 (4)1/12

ANSWER “ANY-7” ONLY: [7*3=21]

15. List the set of letters of the following words in Roster form.

LN edTeu(pLD S BIH6VE Q&M & 6rflew6Ter 6T(W&SIs6emeTL] LIL.19.UI6V
(WemMUI6L 6T S 5.

(i) INDIA

(i) PARALLELOGRAM
(i) MISSISSIPPI

(iv) CZECHOSLOVAKIA

16. (i) If n(A) = 4, find n[P(A)]
(i) If n(A) = 0, find n[P(A)]
(Hi) If n[P(A)] = 256, find n(A)

17. Using the given venn diagram, write the elements of
(i) A

(i) B

(iii)AUB

(v)AnB

(vJA—-B

(vi)B—A

SamacheerKalvi.Guru

o
=

Fig. 1.25
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18.1fP={1,2,5,7,9},Q={2,3,5,9,11},R={3,4,5,7,9}and S={2, 3, 4, 5, 8}, then find
(i) (P UQ) UR
(i)(PnQ)NS

19.1fP={1,2,5,7,9},Q=1{2,3,5,9,11},R={3,4,5,7,9}and S={2, 3, 4, 5, 8}, then find
(i) (PUQ) UR
(i(PnQ)NnS

20. Find any three rational numbers between -7/ 11 and 2/ 11.

20. -7/ 11 LDMMILD 2 /11 6T63T M) 6T600TEEH & T 6m LG 6Tem 6 GUIERILD eLN 60T M)
NG & (LD DI 6T600TS: 606> & IT600T .

21.Consider the following a decimal form 1071 6T600T&s (i) -4 /11 (ii) 11/ 75

22. Find any two irrational numbers between
(i) 0.3010011000111.... and 0.3020020002....
(ii) 67 and 1213

22. BLDES TV 6T600TEEH 5 G @)6mL G 2.6T6IT 61606 GUISILD @) ([
NG & (LN MIT 6T600T T 60)6TE 85 TE00TSs.

() 0.3010011000111 oM MILD 0.3020020002

(i)6/7 LDMMILD 12/13

23. Write the following in the form of 5™:
(i) 625 (ii) v125

23. LY 60T (H6U60TEU MHEmM 5" aUIGaISH 6V 6T(LDSI5..

(i) 625 (ii) v125

ANSWER ANY- 9 ONLY: [9*5=45]

24.Represent the given Venn Diagram: (i) A’ (ii) (A-B)’ (iii) (AUB)’
25.Verify An(BUC)=(AnB) U (ANnC) Using Venn Diagram.

26.1fA={p,q,r,s},B={m,n, q,s,t}and C={m, n, p, q, s}, then verify the associative
property of union of sets.
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26.A={p,qg,r,s},B={m,n q st} OMIDC={m,n,p,q s} eTevflev,
&600T BI85 6fl60r GF TS 8 MeoT @& TLIL|LI LI600TL| 8560 6TE
FflLMTI&6.

27. If P={x:x EW and 0<x<10},Q={x:x=2n+1,nEW and n<5}

And R={2,3,5,7,11,13},then verify P-(QNR)=(P-Q)U(P-R)

28.1fUu={4,7,8,10,11, 12,15, 16}, A={7,8, 11, 12} and B ={4, 8, 12, 15}, then verify De
Morgan’s Laws for complementation.

29. Verify (A N B)’ = A’ UB’ using Venn diagrams.

30. In a class, all students take part in either music or drama or both. 25 students take part
in music, 30 students take part in drama and 8 students take part in both music and drama.
Find

(i) The number of students who take part in only music.

(ii) The number of students who take part in only drama.

(iii) The total number of students in the class.

30. 2(IH QUG LILI6L 2 6T 3|6M60TSH S LOTEI0TEU TSHGHLD ©)60TF 6V6V S
BTL&LD 316V6VS @) TevoTlqeVD LIBICSHMG MITIE6T. 25 LOT600T6M [ 86T
@ em&uWilavid, 30 LOMEoOTEUT&H 6T [BITL&HE BN, 8 LOMEOTEU 6T @)6N &
LOMMILD BTL&LD @) F60orlq.evin LImICHMEMTIEH6T 6Tevt160

(i) @emnauilev WL (HILD LIMBICSHMEG LD LDMeuoT6l &5 6rT160T 6T600T600! 18560 55.
(i) BTL&SH6L DL (HLD LMIGSH MG LD LDTeooTel [J86rfl60T 6T600T6001 18560155
(iii) eU@&LILN6L 2_6TEIT GILDITE &L ITE00T6M [J5561T160T 6T600T 6001 8560085600 U1 &

& IT600TS.

31. In a party of 45 people, each one likes tea or coffee or both. 35 people like tea and 20
people like coffee. Find the number of people who

(i) like both tea and coffee.

(ii) do not like tea.

(iii) do not like coffee.

31. 45 GLIT Q&IT60oTL (H & (D6eNl6V eelQeumHel(HLD CHHT 3j6LevSl
&ermLyl (Coffee) 6LV gl @ Tevorem LD eNBHLOLISBIMTIE6T. 35 HLIFTSH6T
Gs BT IMHMID 20 BLFSET GeTL e BLSMTFSH6T. HLDE & MemILD
B LI &6rT 60T 6T600T60011 8560085600 UL 85 85T600T 5.
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() GsBT IMMILD GerLN @ evoremL_U]LD e (HLOL]LIGUFT&HEIT.
(i) Gz Hemy el HLOLITS 6 TS EIT.
(iii) @ eTLNemw e(BLOLITEH6UTE6T.

32.Find the decimal expansion form [1[][] 6T600T&6IT. of V3.

33. Represent the following irrational numbers on the number line.
(i) v3
(ii) v4.7

33. BLDESH600TL GG (LDMIT 6T600TSH6M6IT 6T600T BSHITL19 6V &M 886 LD

(i) v3
(ii) v4.7

34.Verify AU(BNC)=(AUB) n (AUC) Using Venn Diagram.

ANSWER ALL THE QUESTIONS: [2*10=20]

35. Construct the Circumference of the triangle ABC with AB=5cm,<A=60degree and
<B=80degree. Draw the circumradius of the triangle ABC.

36. Construct the triangle PQR with PQ=6cm,<Q=60degree and <QR=7cm and locate its
Orthocentre

Prepared by

S.VIGNESH.,BCA.,M.Sc.,
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